-----Original Message-----

From: wither@bellsouth.net [mailto:wither@bellsouth.net] 

Sent: Wednesday, April 06, 2005 3:10 PM

To: comments@taxreformpanel.gov

Subject: Tax Reform - Social Security Worksheet

The retirees has an additional tax liblities each year as the COLA is increased. Why? The amount on line 8 and 10 has not been revised on the Social Security Worksheet. Line 8 Enter $ 25,000 ($32,000 if married filing jointly; $ 0 if married filing separately and you lived with your spouse at any time in 2004. Line 10 Enter $9,00 ($12,000 if married filing jointly; $ 0 if married filing separatelyu and you lived with your spouse at any time in 2004.

The amounts on Line 8 and 10 has not increased with the COLA has increased. Therefore it is an increase of tax liblities on the retirees each Tax years.

The figure of Line 8 and 10 has been the same amount for many years.

Example: If COLA has been about 2.5% each years for ten years this would equal to 25% increase on the retirees tax liblities. Why because the amount on line 8 and 10 has not been increase to reflect the current value.

Douglas Withers

7906 Ridge Rd

Saraland, AL 36571

(251) 679-0896

  _____  
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